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#include <iostream>
using namespace std;

int main()
{
int m=0, n=0, 1=0, k=0;
cin >> n;
while (n % 10 '= 0)
{
K =n% 10;
m= (m x 10) + k;
n /= 10;
}
cout << m;
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#include <iostream>
using namespace std;

int main()
{
int n, i, m;
cin >> n;
m=n-1;
1= 2;
while (i < m) {
if (m % i == 0)
{
m——;
1= 2;
}
else
i++;
}
cout << m;
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#include <iostream>
using namespace std;
int main()
{
intn=8, t=1, s = 0;
thle (t <= n) ol s
if (s < t) %
{ % %
cout << "x'";
S++; % % %
} % | % | %
if (s == t)
{ % % % % %
cout << endl; LN A R B
t++; %l % | % | %% | x| %
s = 0;
} ! % % % % % % % %
}
}
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#include <iostream>
using namespace std; :
. . ouud ol uS
int main()
{ int n, k=1, 1i;
: . cin >> n;
1nt “' 1; i=1;
cin >> n; while (i <= n)
i=1; { '
while (i <= n) K=k 1
o . 1++,;
s k =k x i) !
i++; cout << k;

o
cout << Oko;
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#include <iostream>
using namespace std;
int main()
{
int a,b,c,sum;
cin >>a >>b >>c;
sum = a+b+c;
if (sum%3==1)
cout << "nafar avval";
if (sum%3==2)
cout << "nafar dovvom";
if (sum%3==0)
cout << "nafar sevom";
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#include <iostream>

using namespace std;

int main()

{
int n;
cin >> n;
int Min=n, Max=n;
while (n != -1)

{
cin >> n;
if (n 1= -1)
{
if (Max<n)
Max=n;
if (Min>n)
Min=n;
}
¥

cout << Min << endl << Max;
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#include <iostream>
using namespace std;
int main()

{

int a,b,counter=0;

cin >>a >>b;

while (a>=b)

{
a=a-b;
counter++;

¥

cout << counter << endl<< a;
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#include <iostream>
using namespace std;
int main()

{

int n;

cin >> n;

int Max = n%10;
while (n>0)

{
if (n%10 > Max)
Max = n%10;
n=n/10;
¥

cout << Max;
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